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7 I A k| 10000 2552 222 210 225 107 254 91 104 228 266 146 154 545 2027 1821 206 663 289 180 33 159 347
1841 H| 1003 1015/ 99.2| 1030( 99.6| 990 109.4| 1048 100.0 99.9| 99.4| 1015 1008/ 101.0/ 1006 100.7| 100.1| 1023 101.7| 101.9| 118.0| 1008/ 99.1| 18
2 99.6/ 999 96.7| 1029 100.4| 984| 101.2| 978 972 97.8| 101.8/ 100.4| 97.4| 101.0f 101.1| 101.3/ 100.1| 102.6| 101.7 101.9| 1228 1008 972 2
3 99.8| 995 96.3] 1009 999/ 987 989 958/ 98.1 98.1| 102.6 100.3| 97.7 101.0 100.5| 100.6{ 100.2| 1025/ 101.7| 101.9| 121.8| 1008 982 3
4 99.9| 993 96.7| 999 99.7| 975/ 1004/ 939| 979 980 1012 1003 97.8| 101.0f 101.1| 101.2| 100.2| 101.4] 99.1f 102.3| 119.8| 100.8| 982 4
5 1003 99.7| 96.2| 98.1 97.6| 97.3| 1023| 107.3| 97.6| 979| 101.7 995/ 982 101.2| 1015 101.6{ 100.2| 101.5 99.1| 102.3| 121.4| 100.8| 985 5
6 100.1 998/ 957 99.0| 996 954 103.1| 107.7f 979| 976 100.8 99.8/ 98.0f 101.2| 100.9| 101.0f 100.2| 101.9 99.1| 103.8| 121.4| 1008| 97.7| 6
7 100.1| 100.3| 96.5| 100.4( 103.8| 96.7| 1023 99.2| 97.8| 985 102.1 99.7) 983| 101.2| 1015/ 101.6] 100.0| 1022 99.1| 104.7| 121.4| 100.8| 975 7
8 100.8| 102.4| 958| 103.3| 105.9| 97.2| 117.0 107.1 98.7) 97.7| 1025] 99.6| 97.8] 101.2| 101.5 101.6| 100.0f 102.4| 99.1| 1047 126.6| 1008 96.2| 8
9 101.0f 1020 97.2| 102.0f 105.4| 97.2| 1138 1126| 956 97.8| 101.7| 99.8 97.8| 101.2| 101.6| 101.7 99.9] 1025 99.1| 104.7| 1286 100.8 96.0] 9
10 100.8| 101.4| 97.3| 100.1f 1038 97.1| 109.6| 107.6| 985 97.7| 1025 100.4| 97.8| 101.2| 101.0{ 100.9| 101.9| 1024| 99.1| 104.6| 126.4| 1008 963 10
11 100.2| 100.1 94.3| 100.5( 1021 96.9| 1025/ 110.4| 982 955 1029 99.6( 975/ 101.2| 101.0 100.9| 102.0{ 1021 99.1| 104.6| 120.4| 100.8/ 957 11
12 100.1 99.8| 942| 1005| 102.1 968 98.7| 1115] 988 955| 103.1 99.7] 97.8] 101.2| 101.0/ 100.9| 101.9] 102.1 99.1] 104.6] 120.4| 100.8] 95.1f 12
::||:: ﬁﬁ] 1*5,8 g 100.3| 100.5| 96.3| 1009 101.7| 97.4| 104.9| 1046 980 97.7) 101.9| 100.1 98.1| 101.1f 101.1| 101.2| 100.6| 102.2| 99.8/ 1035 122.4| 100.8| 97.1
B 4 tb (%) 0.3 05 -37 0.9 1.7 -26 4.9 46| -20| -23 1.9 0.1 -1.9 1.1 1.1 1.2 0.6 22| -02 35 224 08 -29
1A 0.3 22| -02 13 0.6 04( 102| 26.1 29 13| -10 15 0.4 0.0{ -01 -0.1 0.2 1.1 1.1 0.6 8.3 0.0 12| 1R
2 -07| -16| -25 -0.1 08 -06| -75 -6.7| -28 -21 241 -11 -34 0.0 0.5 0.6 0.0 0.3 0.0 0.0 4.1 00f -19] 2
i 3 02 -04| -04/ -19| -05 03 -23| -20 0.9 0.3 08| -0.1 0.3 0.0{ -06| -07 0.1 -0.1 0.0 0.0 -08 0.0 1.0 3
4 0.1 -0.2 04 -10| -02[ -12 15 -20f -02| -0.1 -14 0.0 0.1 0.0 0.6 0.6 0.0f -11 -2.6 04 -16 0.0 00| 4
A 5 0.4 04( -05| -1.8 -21 -0.2 19| 143/ -03| -0.1 05| -08 0.4 0.2 0.4 0.4 0.0 0.1 0.0 0.0 1.3 0.0 03| 5
6 -0.2 0.1 -05 0.9 20 -20 0.8 0.4 03f -03| -09 03[ -02 0.0 -06| -06 0.0 0.4 0.0 15 0.0 0.0 -08] 6
24 7 0.0 0.5 0.8 1.4 4.2 14| -08 ~-79| -01 0.9 13] -01 0.3 0.0 0.6 06[ -02 0.3 0.0 0.9 0.0 00f -02| 7
;/: 8 0.7 2.1 -0.7 29 20 05 144 8.0 09( -08 04 -01 -05 0.0 0.0 0.0 0.0 0.2 0.0 0.0 43 00f -13] 8
= 9 02( -04 15 -13] -05 0.0{ -27 5.1 -3.1 0.1 -0.8 0.2 0.0 0.0 0.1 0.1 -0.1 0.1 0.0 0.0 1.6 00f -02| 9
10 -02| -06 0.1 -19| -15] -01 =37 -44 30, -0.1 0.8 0.6 0.0 0.0{ -06| -08 20, -0.1 0.0{ -01 -1.7 0.0 03| 10
11 -06| -13] -31 04 -16| -02[ -65 26| -03| -23 04 -08| -03 0.0 0.0 0.0 0.1 -03 0.0 0.0[ -47 0.0 -06] 11
12 -0.1 -0.3| -01 0.0 0.0 -01 -3.7 1.0 0.6 0.0 0.2 0.1 0.3 0.0 0.0 0.0 -01 0.0 0.0 0.0 0.0 0.0 -06] 12
1A 0.4 12| -06 25 -33 1.0 71 -1.8 0.1 -04 0.9 14 25 14 0.3 0.4 0.0 35 1.9 23| 285 32 -231 1R
2 00{ -07| -27 30| -27| -19| -18 -44] -51 2.9 20 03[ -11 14 0.8 1.0 0.0 4.0 1.9 23| 36.7 32| -30|] 2
B 3 -02( -11 -35 -14| -17| -14] -28| -62[ -30| -28 29 05 -23 14 0.2 0.3 0.1 3.7 1.9 25| 327 32| -28| 3
g 4 -02 -07| -38 03 -02| -26 15/ -63| -28| -25 0.7 05 -32 15 15 1.7 0.1 17) -07 3.1 249 0.0[ -26] 4
[l 5 0.0( -04| -45 -03| -13] -22 29 06f -32| -20 0.5 02( -27 14 1.7 19 0.0 17] -07 3.1 226 00f -23] 5
A 6 0.2 06 -44 22| -01 -4.5 9.3 62 -17| -14] -06[ -01 -1.9 15 1.1 13 0.2 18/ -07 4.1 20.2 00f -31] 6
te 7 0.5 12 -32 23 4.1 -4.4 6.3 34| -17 0.1 13 04 -19 15 18 19 0.0 2.1 -0.7 50| 202 00[ -26] 7
;/: 8 0.9 23| -43 1.6 80| -28| 172 10| -21 -04 201 -03| -28 15 18 19 0.2 2.1 -0.7 4.1 253 0.0[ -25| 8
= 9 0.8 18 -32 0.8 76| -3.4| 106| 11.0f -45| -32 38| -05| -25 15 19 20, -0.1 2.1 -0.7 4.1 249 00f -33] 9
10 0.4 0.7 -29 0.4 42 -43 71 54| -11 -3.7 271 -04f -21 0.2 14 13 20 14 -15 40( 166 0.0 -36] 10
11 0.1 02( -54 0.2 30| -85 24| 194 0.1 -54 35 -1.0[ -24 0.2 0.4 0.2 2.1 1.1 -15 40( 1141 0.0{ -33] 11
12 0.1 05 52| -12 3.1 -1.8] -06] 342 16| -31 27] 03] -26 0.2 0.3 0.1 20 09 -15 3.3 10.5 0.0 -29] 12
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ER184%F1A 98.5 102.3 99.0 99.3 98.1| 100.0 974 96.1| 100.0 95.9 97.4 96.3 99.5 100.2| 100.3( 100.0{ 100.0f 100.2 99.6| 100.0 994 1R
2 94.9 95.4 99.0 99.3 97.4| 100.0 93.8 89.9 90.7 89.9 94.2 91.3| 100.1| 100.2| 100.3| 103.6 99.9| 100.1 99.6| 100.0 99.1] 2
3 96.3| 102.6 99.0 974 98.8| 100.0 98.2 99.2 90.7 99.7 94.8 92.1] 100.1 97.5| 103.1] 103.6( 100.1| 100.1 100.3| 100.0) 100.2| 3
4 94.7| 102.6 99.2 99.5 99.2| 100.0| 102.7| 102.7 90.7| 103.4] 103.6| 105.3| 100.2 98.3| 103.1| 103.6 99.1] 100.1| 100.0 98.4 994| 4
5 95.0 102.6 99.2| 100.2 99.5 100.0| 103.5| 102.6 90.7| 103.4| 105.4( 108.1| 100.2| 101.4| 103.1| 103.6 98.9 99.4 99.1 98.6| 100.2| 5
6 92.6| 102.6 99.3| 100.1 99.5 100.0| 103.7| 102.6 90.7| 103.3] 106.1| 108.9| 100.6| 101.4| 103.7| 103.6 99.0 99.9 99.1 98.6 999| 6
7 924 102.6 99.7| 100.1 98.4| 100.0 97.9 95.2 90.7 95.4 98.4 97.4| 100.6/ 101.4| 102.8| 103.6 98.4 97.0 99.8 98.6| 1004 7
8 88.8| 102.3 99.3 99.8 98.3| 100.0 95.9 929 90.7 93.0 94.9 920/ 100.6/ 100.2| 106.5| 103.6 98.2 97.0 98.3 98.6| 102.0] 8
9 88.8| 102.3 99.3 99.8 97.2| 100.0| 104.6/ 105.1 90.7| 106.0] 1045 106.1| 101.5| 101.6| 106.5| 103.6 98.3 97.3 98.7 98.6| 101.3] 9
10 89.0| 102.0| 103.4 98.8 98.0| 100.0| 106.6( 107.1 90.7| 108.0] 107.6| 110.6| 101.4| 101.6| 108.6/ 103.6 99.5 97.3| 100.1| 100.2| 100.7] 10
11 86.3| 100.2| 105.5 99.6 98.4| 100.0| 106.5| 107.6 90.7| 108.6] 106.6| 109.0f 101.7| 101.6| 108.1| 103.6 99.4 97.3 99.7| 100.2 994| 11
12 85.2| 100.2| 105.5 98.3 98.6| 100.0| 106.4| 107.4 90.7| 108.5] 106.3] 109.0{ 101.0) 101.6] 108.6] 103.6 99.3 97.3 98.9] 100.2 99.7] 12
::||:: ﬁf&] 1*5,8 g‘ 91.9| 101.5| 100.6 99.4 98.5| 100.0| 101.4| 100.7 91.5| 101.3] 101.7[ 102.2| 100.6| 100.6| 104.6/ 103.3 99.2 98.6 99.4 99.3| 100.1
BT 4 (%) -8.1 15 0.6 -0.6 -15 0.0 1.4 0.7 -85 1.3 1.7 2.2 0.6 0.6 4.6 33 -0.8 -1.4 -0.6 -0.7 0.1
1A 3.8 0.1 0.3 -0.5 0.5 0.0 -6.5 -9.4 0.0 -10.0 -5.9 -8.3 -0.9 0.3 -3.4 0.0 0.5 1.1 1.4 0.0 -03] 1AH
2 -3.7 -6.7 0.0 0.0 -0.7 0.0 -3.7 -6.5 -9.3 -6.3 -3.3 -5.2 0.6 0.0 0.0 3.6 -0.1 -0.1 0.0 0.0 -03] 2
1 3 15 75 0.0 -1.9 14 0.0 4.7 10.3 0.0 10.9 0.6 0.9 0.0 -2.7 2.8 0.0 0.2 0.0 0.7 0.0 111 3
4 -1.7 0.0 0.2 2.2 0.4 0.0 4.6 35 0.0 3.7 9.3 14.3 0.1 0.8 0.0 0.0 -1.0 0.0 -0.3 -1.6 -08] 4
A 5 0.3 0.0 0.0 0.7 0.3 0.0 0.8 -0.1 0.0 0.0 1.7 2.7 0.0 3.2 0.0 0.0 -0.2 -0.7 -0.9 0.2 08| 5
6 -25 0.0 0.1 -0.1 0.0 0.0 0.2 0.0 0.0 -0.1 0.7 0.7 0.4 0.0 0.6 0.0 0.1 0.5 0.0 0.0 -03] 6
t 7 -0.2 0.0 0.4 0.0 -1.1 0.0 -5.6 -7.2 0.0 -7.6 -7.3| -10.6 0.0 0.0 -0.9 0.0 -0.6 -2.9 0.7 0.0 05| 7
;/: 8 -39 -0.3 -0.4 -0.3 -0.1 0.0 -20 -24 0.0 -25 -3.6 -55 0.0 -1.2 3.6 0.0 -0.2 0.0 -1.5 0.0 16| 8
= 9 0.0 0.0 0.0 0.0 -1.1 0.0 9.1 13.1 0.0 14.0 10.1 15.3 0.9 14 0.0 0.0 0.1 0.3 0.4 0.0 -07] 9
10 0.2 -0.3 4.1 -1.0 0.8 0.0 1.9 1.9 0.0 1.9 3.0 4.2 -0.1 0.0 2.0 0.0 1.2 0.0 14 1.6 -0.6] 10
11 -3.0 -1.8 2.0 0.8 0.4 0.0 -0.1 0.5 0.0 0.6 -0.9 -1.4 0.3 0.0 -0.5 0.0 -0.1 0.0 -0.4 0.0 -1.3] 11
12 -1.3 0.0 0.0 -1.3 0.2 0.0 -0.1 -0.2 0.0 -0.1 -0.3 0.0 -0.7 0.0 0.5 0.0 -0.1 0.0 -0.8 0.0 03] 12
18 -55 33 -0.4 -0.6 -3.1 0.0 1.2 1.6 0.0 1.7 0.4 0.0 1.2 0.4 51 0.0 -0.2 0.1 -1.2 0.0 01l 1AH
2 -5.8 -3.6 -0.4 0.0 -39 0.0 1.7 2.2 -9.3 3.0 0.7 0.7 1.1 1.8 2.1 3.6 -0.3 0.0 -1.2 0.0 03] 2
B 3 -6.7 5.6 -0.4 -2.3 -2.7 0.0 1.2 1.3 -9.3 1.9 1.5 1.5 14 -2.3 2.6 3.6 -0.1 0.0 -0.5 0.0 06| 3
F 4 -7.8 2.6 -0.8 1.8 -2.6 0.0 0.9 2.0 -9.3 2.7 -1.2 -1.8 -0.2 -1.5 2.6 3.6 -1.0 0.0 -0.3 -1.6 -04] 4
&l 5 =71 24 -0.8 0.4 -1.1 0.0 0.2 -1.3 -9.3 -0.7 0.6 1.1 -0.3 1.6 2.8 3.6 -1.2 -0.7 -1.1 -1.4 01 5
A 6 -9.0 24 -1.4 -0.7 -0.5 0.0 0.6 -0.4 -9.3 0.1 0.7 0.9 0.1 1.6 3.4 3.6 -0.9 -0.2 0.0 -1.4 02| 6
4 7 -74 24 -1.0 -0.7 -1.4 0.0 1.1 -0.7 -9.3 -0.2 2.2 3.4 0.1 24 4.2 3.6 -1.7 -3.1 -0.4 -1.4 00| 7
;/: 8 -6.9 2.1 -1.3 -1.1 -1.4 0.0 2.1 -0.5 -9.3 0.0 5.6 8.7 0.1 -0.8 6.2 3.6 -1.9 -3.1 -1.9 -1.4 06| 8
= 9 -8.4 23 -1.7 -1.1 -2.9 0.0 1.1 0.6 -9.3 1.1 0.3 0.0 1.2 0.6 6.2 3.6 -1.7 -2.8 -1.0 -1.4 03] 9
10 -11.3 2.0 2.1 -1.4 -0.1 0.0 2.6 1.2 -9.3 1.7 3.8 51 0.9 0.8 8.5 3.6 -0.4 =21 -0.1 0.2 -03] 10
11 -11.8 -1.7 6.9 -0.6 0.2 0.0 2.2 14 -9.3 2.0 29 3.6 1.3 0.8 6.2 3.6 -0.6 -2.9 0.1 0.2 -0.1] 11
12 -10.2 -2.0 6.9 -1.5 1.0 0.0 2.1 1.2 -9.3 1.9 2.7 3.8 0.6 1.7 4.6 3.6 -0.2 -1.8 0.7 0.2 00] 12
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By I 4 M 201 763 452 359 267 8 84| 1068 104 231 163 570 650 127 124 70 69 260 364 129 148 86| 9636/ 8613
ER184F1AH 99.9( 101.1 96.4| 100.2| 100.2| 100.0( 100.1 98.5 87.8 99.3| 1005 99.6] 100.1| 100.1 98.9( 1024| 100.0/ 100.0f 109.6/ 103.0f 118.1| 105.1 99.9| 100.2| 1A
2 975 101.2 96.3| 100.1| 100.2| 100.0 99.8 97.6 81.6 98.9| 1005 99.3] 100.2| 100.1 99.3| 102.4| 100.0 100.0f 102.6/ 103.5| 104.6 97.6 99.5 993 2
3 103.7| 101.6 96.2 100.1| 100.2| 100.8 99.8 97.7 80.9 99.0 100.3 99.5| 100.4| 100.1| 100.6| 102.4| 100.0{ 100.0 99.3( 101.0| 100.2 95.5 99.8 996 3
4 979 1017 96.2 100.5| 101.0| 100.4 99.1 97.7 80.1 99.1| 100.3 99.5| 100.7| 100.5| 101.1| 103.7| 100.0| 100.1 98.9 98.4( 1024 93.6 99.9 996 4
5 98.4( 103.1 96.2 100.5| 101.0| 100.4 99.1 98.5 81.2 100.8| 100.3| 100.2| 100.3| 100.5 98.9( 103.7| 100.0f 100.1] 103.0 953 107.1] 107.7| 100.2| 100.1] 5
6 97.3| 1028 96.3| 100.5| 101.0| 100.4 99.1 97.6 76.8 99.0( 100.5| 100.1| 100.4| 100.5 99.4( 103.7| 100.0/ 100.1] 104.1 97.3| 107.7| 108.2| 100.0/ 100.0| 6
7 99.9( 103.0 96.4| 100.5| 101.0| 100.4 99.1 975 75.8 99.0 1005 99.9| 101.5| 100.1| 100.3| 103.7| 109.1| 100.1| 101.7 97.8| 106.7 99.2( 100.1 999 7
8 104.2| 1049 96.3| 100.5| 101.0| 100.4 99.1 97.9 73.4 99.7( 100.7| 100.9| 101.2| 100.5 985 103.7| 109.1| 100.1] 1153/ 101.7 131.7) 107.5| 100.3| 100.6f 8
9 979 1053 96.2 100.5| 101.0| 100.4 99.1 97.2 72.6 98.8 100.4| 100.1| 101.3| 100.5 99.2( 103.7| 109.1| 100.1] 113.7| 100.2| 125.8| 113.3| 100.5( 1009 9
10 974 1043 96.1| 100.5| 101.0| 100.4 99.1 97.4 73.6 98.4( 100.5| 100.4| 101.1| 100.5 98.2 103.7| 109.1| 100.1] 108.2 96.9 118.1| 108.0/ 100.5| 100.8] 10
11 97.3| 1019 96.1| 100.5| 101.0| 100.4 99.1 97.0 704 98.7 100.4| 100.2| 101.3| 100.5 98.2 105.0{ 109.1| 100.1] 1045 98.5 106.0| 111.1| 100.1| 100.1] 11
12 99.3] 102.0 96.1] 100.5| 101.0/ 100.4 99.1 96.9 68.6 99.8| 100.7 99.9] 101.0{ 100.5 97.1| 104.9| 109.1] 100.1] 101.8 97.8 99.2| 112.1] 100.1] 100.0f 12
::FF ﬁf&] 1*58 g‘ 99.2| 1027 96.2| 100.4| 100.8| 100.4 99.3 97.6 76.9 99.2( 100.4| 100.0f 100.8| 100.4 99.1| 103.6| 104.6| 100.1] 105.2 99.3| 110.6| 104.9| 100.1| 100.1
BT £ Lt (%) -0.8 2.7 -3.8 04 038 04 -0.7 -2.4| -231 -0.8 04 0.0 0.8 04 -09 3.6 46 0.1 5.2 -0.7 10.6 49 0.1 0.1
18 -2.1 0.0 0.0 0.0 0.0 0.0 0.0 0.1 1.3 0.1 0.1 -0.1 0.1 0.0 0.0 0.3 0.0 0.0 13.3 1.0 17.5 28.0 -0.2 04| 18
2 -24 0.1 -0.1 -0.1 0.0 0.0 -0.3 -09 =71 -0.4 -0.3 -0.3 0.1 0.0 04 0.0 0.0 0.0 -6.4 05| -114 =71 -0.4 -09| 2
1 3 6.4 04 -0.1 0.0 0.0 0.8 0.0 0.1 -0.9 0.1 0.1 0.2 0.2 0.0 1.3 0.0 0.0 0.0 -3.2 -24 —4.2 -2.2 0.3 03] 3
4 -5.6 0.1 0.0 04 038 -0.4 -0.7 0.0 -1.0 0.1 0.0 0.0 0.3 04 05 1.3 0.0 0.1 -0.4 -2.6 22 -2.0 0.1 00| 4
A 5 0.5 1.4 0.0 0.0 0.0 0.0 0.0 0.8 14 1.7 0.0 0.7 -0.4 0.0 -2.2 0.0 0.0 0.0 41 -3.2 4.6 15.1 0.3 05| 5
6 -1.1 -0.3 0.1 0.0 0.0 0.0 0.0 -0.9 -54 -1.8 0.2 -0.1 0.1 0.0 05 0.0 0.0 0.0 11 2.1 0.6 0.5 -0.2 -0.1| 6
t 7 2.7 0.2 0.1 0.0 0.0 0.0 0.0 -0.1 -1.3 0.0 0.0 -0.2 11 -0.4 09 0.0 9.1 0.0 -2.3 0.5 -09 -8.3 0.1 =01 7
;/: 8 43 1.8 -0.1 0.0 0.0 0.0 0.0 04 -3.2 0.7 0.2 1.0 -0.3 04 -1.8 0.0 0.0 0.0 134 40 234 8.4 0.2 07] 8
= 9 -6.0 04 -0.1 0.0 0.0 0.0 0.0 -0.7 -1.1 -09 -0.3 -0.8 0.1 0.0 0.7 0.0 0.0 0.0 -14 -15 -45 5.4 0.2 03] 9
10 -0.5 -09 -0.1 0.0 0.0 0.0 0.0 0.2 14 -0.4 0.1 0.3 -0.2 0.0 -1.0 0.0 0.0 0.0 -48 -3.3 -6.1 -4.7 0.0 -0.1] 10
11 -0.1 -2.3 0.0 0.0 0.0 0.0 0.0 -0.4 -4.3 0.3 -0.1 -0.2 0.2 0.0 0.0 1.3 0.0 0.0 -3.4 1.7] -10.2 29 -0.4 =07 11
12 2.1 0.1 0.0 0.0 0.0 0.0 0.0 -0.1 -2.6 1.1 0.3 -0.3 -0.3 0.0 -1.1 -0.1 0.0 0.0 -2.6 -0.7 -6.4 0.9 0.0 -0.1] 12
1H -0.4 3.2 -4.6 0.8 09 -0.1 05 -25| -228 -0.7 05 0.2 0.3 0.0 -0.1 26 0.0 0.0 5.7 1.2 14.3 -1.9 0.1 04 18
2 -0.5 3.6 -4.6 0.7 0.9 -0.1 0.2 -3.0| -25.9 -0.4 0.5 -0.3 -0.1 0.0 -25 2.6 0.0 0.0 0.0 29 0.1 -4.8 0.0 -02| 2
B 3 0.1 41 -48 0.7 0.9 0.7 0.2 -2.8| -24A1 -14 0.6 -0.1 -0.3 0.0 -29 2.6 0.0 0.0 -35 -2.6 -2.2 -6.6 -0.1 -03| 3
F 4 -0.3 2.3 -48 0.3 038 04 -1.0 -29| -26.3 -09 0.6 -0.1 04 04 -0.4 3.9 0.0 0.1 -0.7 -1.1 3.0 -6.6 -0.2 -05| 4
Gl 5 -0.6 3.1 -45 0.3 038 04 -1.0 -24| -235 -0.6 0.5 0.1 04 04 -0.8 3.9 0.0 0.1 2.7 -2.3 8.4 0.6 -0.1 -03] 5
A 6 -0.4 3.1 —4.2 0.3 038 04 -1.0 -2.5| -234 -1.3 0.6 0.0 0.7 09 0.2 3.9 0.0 0.1 10.6 24 21.0 6.6 -0.1 01l 6
t 7 -0.1 2.6 —4.2 0.3 0.8 04 -1.0 -24| -223 -1.2 0.6 -0.3 1.8 0.5 15 3.9 9.1 0.1 7.3 1.0 15.4 3.8 0.3 03] 7
;/: 8 0.0 3.8 —4.2 0.3 038 04 -1.0 -2.6| -23.6 -1.1 0.2 -0.2 1.3 04 -09 3.9 9.1 0.1 12.7 -14 32.6 1.1 0.5 07] 8
= 9 -14 3.6 -4.4 0.3 0.8 04 -1.0 -2.3| -23.7 -09 0.2 0.1 15 04 0.2 3.9 9.1 0.1 10.8 -1.2 20.7 11.6 04 06| 9
10 -1.7 25 -4.3 0.3 0.8 04 -1.0 -1.8| -18.7 -0.7 0.3 -0.2 1.3 04 -0.9 3.9 9.1 0.1 6.2 -2.0 13.2 5.7 0.2 03] 10
11 -1.2 0.2 -0.1 0.3 038 04 -1.0 -1.8| -20.3 -0.9 0.3 0.2 1.3 04 -1.9 52 9.1 0.1 5.8 -1.2 41 20.6 -0.1 01] 11
12 -2.6 0.9 -0.3 0.3 0.8 0.4 -1.0 -1.5] -20.9 0.6 0.3 0.2 1.0 0.4 -1.8 2.7 9.1 0.1 5.3 —4.1 -1.3 36.5 0.0 02| 12




